Chapter 2 - Selected Answers “Evens” 


p.1
CHAPTER 2
Section 2.1 (p.68)

2. negative, positive  
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8. >  10. >  12. 
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 32. B 34. A
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44. 
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50. <  52. 12,799  54. 0  56. Canopus, Procyon, Sirius 58. Sirius 

60. D  62. B  64. 16 in2  66. 8  68. 4  70. 16  
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Selected Answers “Evens” 



p.2
Section 2.2 (p.74)

2. 0  4. 3  6. 
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  8. 6  10. 
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  12. no solution  14. 
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  16. true  18. 3  20. 0  22. 
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24. 
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  26. 4  28. – 2  30. 4.5  32. 
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  34. 0  36. 
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  38. no solution  40. 
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42. Venus 0, Earth 90, Jupiter 0  Saturn 0, Uranus 0, Neptune 0, Pluto 0

44. positive  46. negative  48. 6 ft/sec  50. 400 ft/min  52. true  54. always (true) 

56. D  58. C  60. 5  62. 0  64. 4  66. x – 5 = 8  68. 
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Section 2.3 (p.81)

2. D  4. C  6. 4  8. – 4  10. 1  12. – 3  14. 4  16. A  18. – 4  20. – 6  22. 1  24. – 9  26. – 17  
28. – 17  30. – 3  32. – 9  34. – 9  36. Identity Property, +  38. Associative Property, +

40. Closure Property, +  42. – 4  44. – 10.5  46. 2.2  48. 
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  50. – 85.79  52. 126.04  

54. a loss of $711  56. true (sample answer 1) for 5 and 3, -(5+3) = -8 and 
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-+-=-

 (sample answer 2) for -6 and 2, 
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 58. J  60. k9  

62. 35  64. 8  66. 9  68. not a solution  70. solution  72. solution  74. 900 76. 200  78. 900
Section 2.4 (p.89)

2. no, -7x is the “term”  4. – 1  6. – 10.7  8. 0  10. 15, 11, 9, 5  12. 5w, -8  14. – 5  16. – 3  

18. – 15  20. 32  22. – 4.7  24. 3.1  26. – 1  28. 
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  30. – 14  32. 12  34. – 112  36. – 17.3  

38. 7.9  40. 
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 54. 1.88, 2.56, -1.31, -2.25  56. -7301 ft, -662 ft, -1883 ft, 77 ft,

-1311 ft, 8021 ft  58. true: 8 – (-6) = 8 + 6 = 14  60. D  62. B  64. 2  66. 63  68. 3  70. false

[image: image51.jpg]


    [image: image52.jpg]



[image: image53.jpg]


   78. 1.25  80. .0168  82. 1.08

Section 2.5 (p.96)

2. E  4. C  6. – 9  8. 24  10. 18a  12. – 6x3  14. 36  16. no  18. – 25  20. 8.4  22. 3  24. 256  

26. 70  28. – 160  30. – 4.95  32. 3y  34. – 2k  36. – 8z3  38. – b3  40. – y4  42. 24  44. 144

46. 33  48. False (sample counterexample) When a = -2, then (-a)(-1) = -2.  50. d = -2t  

52. 20 ft  54. about – 600 ft  56. – 216  58. 12(-6)(3) = -216 = -18(-6)(-2) 60. H  62. F

64. 11  66. 5  68. 12  
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  72. 6  74. – 7  76. – 6.8  78. – 0.05  80. – t, 5 

82. 31, -15n  84. -3c, -4  86. 72  88. 6105  90. 528 
Section 2.6 (p.103)

2. 5x + 20  4. 4x – 24  6. 12(x + 5) = 12x + 60  8. C  10. A  12. (1) 9(2 – 0.05) 
(2) 9(2) – 9(0.05) (3) 18 – 0.45 (4) 17.55  14. 7(2 + x) = 14 + 7x  16. 9(2x + 4) = 18x + 36 

18. 5w + 30  20. 5y + 20  22. 7x + 56  24. 12x + 28  26. 18 + 6n  28. 2 + 3r  30. 2x – 6  

32. 2x – 4  34. 2n – 14  36. 42w – 7  38. 36 – 20a  40. 
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  42. -2x + 12  44. -4 – 2t  

46. -3x + 12  48. -63x – 7  50. -15d + 40  52. 
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  54. forgot to distribute the ‘leading’ negative sign times the ‘-8’. Should have been -2(7-8)=-2(7) + 16 = 2  

56. 72.50  58. 41.86  60. 52.50  62. -9.18  64. -22.40  66. -23.80  68. $7.35  70. $9.90  

72. 200(x+225) = 200x + 45,000  74. D  76. D  78. 
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  80. 2  82. 19  84. Commutative, +

86. Inverse Property, + (opposites)  88. -1  90. -7  92. -10.3  94. 
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Section 2.7 (p.110)

2. -3x2 & 9x2, 3x & -4x  4. -2w  6. 9 – 9m  8. already simplified  10. 19g + 8  12. 21a + 19 

12. 21a + 19  14. 12t – 6  16. 5s2 & -10s2  18. 2p & 2p, 1 & 5  20. 3x2 & -7x2, 4x & 8x  

22. y  24. 7 – h  26. 5z + 12  28. 10a – 3a2  30. -6b + 10  32. 24 – 2f  34. -10 – 38x 

36. 16p + 15  38. 3x + 6  40. distribute 3(x – 2)  before combining like terms  

42. (x – 2) + (x  + 11) + (2x + 3)  = 12x – 30  44. (x+2) + 9(x – 2) + 2(x – 2) = 12x – 20  
46. W = 23.75n + 13,537.5  48. T = 15c + 60(8 – c)  50. 255 lb  52. no, 
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54. – 94  56. A  58. F  60. about 13%  62. 4  64. 3.1  66. 
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  68. 60  70. 504  72. 80

74. 
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Section 2.8 (p.116)
2. quotient  4. 
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[image: image69.wmf]3

14

  8. 14  10. – 3  12. 2x – 6  14. all reals  16. all reals, 
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18. Multiply by the reciprocal of the divisor (the 2nd number). Don’t ‘flip’ the 1st number.

20. 2  22. – 4  24. – 6  26. – 3  28. 12  30. – 21  32. 
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  40. – 3  

42. – 12  44. -11r – 5  46. simplified  48. 5y – 9  50. all reals, 
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  52. all reals, 
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54. -800 ft/min  56. 8  58. 17  60. 24  62. 9 = x – 21  64. 
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  66. 15  68. – 13.9  

70. 
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  72. >  74. <  76. =  78. >

Chapter 2 Extentsion (p.120)

2. deductive reasoning  4. 
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6.  (x + 2) + (-2) = x + (2 + (-2))  Associative Property, +



      = x + 0  Addition Inverse Property (opposites add to zero)



     = x   Addition Identity Property (0 plus anything is that anything)

Chapter 2 Summary and Review (p.121)

2. -2, -1.9, 3.1, 4.3, 5, 5.3  4. 3  6. -100  8. 3.2  10. 
[image: image80.wmf]1
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  12. -4  14. 0.5  16. 
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  18. -1  
20. -3.5  22. 
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  24. -36  26. -84  28. 64  30. 5x  32. -10a3  34. –y3  36. 5x + 60  

38. 10z – 10  40. -2x – 26  42. -8m + 56  44. -2.5s + 12.5  46. 11x2 + 4  48. 3d + 1 

50. 8x – 9  52. -1  54. 
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  56. 
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  58. -15

Chapter Test (p.125)

1. -9, -5, -2, 3, 4, 9  2. -6.4, -4, -2.7, 3.1, 5, 8  3. -5, 
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, 2, 3  4. -5  5. 4  6. -9.2 

7. 
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  8. 8   9. 17  10. -4.5  11. 
[image: image90.wmf]1
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  12. -5  13. 6  14. 1  15. 10  16. profit of $948  17. -14  18. 30  19. 13  20. -0.5  21. -24  22. 800  23. 360  24. 21  25. 8x  26. 5w2  27. -32a3 

28. -15z2  29. -198 ft  30. 9a + 99  31. 32 – 8x  32. -72 – 12y  33. -15 + 5z  34. 2t2 – 9  
35. 12p + 10  36. -9y – 93  37. -3a + 26  38. about 5.4 miles  39. 9  40. 64  41. 
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  42. -30
Chapter 2 Standardized Test (p.126)
1. C  2. A  3. D  4. B  5. B  6. A  7. B  8. C  9. D  10. C  11. D  12. D  13. D
Maintaining Skills (p.127)
2. 32 sq units  4. 8 sq units
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